Specification:

5950*3000*2800mm

Description Of Goods

Specification

Commodity-Quotation

SMC20-1 ||, \se

PACKING AND DELIVERY:

Detachable Standard Container

3*5.95*2.8meter

Date: 2023/2/21

Picture

Length

Single

No. Name Code Specification Unit Color Note/Picture
(mm) Set
Material List of detachable Standard container house (One Set)
Electrolytic Oxidation Antirust
1 Pillar A 2.3mm*160*160 2480 4 Pcs Black Layer
Paint 40um
2.3mm*160*60
2 Bottom Beam-Long B1 welded u-shaped card 5620 2 Pcs Black
3 |Bottom Beam-Short B2 [23mm™60°60 2670 2 Pcs Black
Welded square pipe head
4 Top Beam-Long C1 2.3mm*160*60 5620 2 Pcs Black
5 Top Beam-Short C2 |2.3mm*160*60 2670 2 Pcs Black
g |Comerhead-standard D |4.0mm*160*160 — 8 Pcs Black
type
7 support column [J60*40*1.3mm 2480 2 Pcs Black
. Galvanized 40g/m?
8 Bottom Beam-A F1 [180*80*1.5mm 2990 4 Pcs | Galvanized color
9 Bottom beam-B F2 [180*40*1.5mm 2990 5 Pcs | Galvanized color
[150*50*1.5mm .
10 Top Beam-A F3 With U-shaped card 2775 2 Pcs | Galvanized color
11 Top Beam-B F4 [180*40*1.3mm 1870 3 Pcs | Galvanized color
12 Top Beam-C F5 [J60*40*1.3mm 1870 6 Pcs | Galvanized color
1.2mm . top long beam
13 50 edge groove-A G1 Galvanized sheet bending 5710 2 Pcs | Galvanized color
1.2mm .
14 50 edge groove-B G2 Galvanized sheet bending 2870 2 Pcs | Galvanized color
15 Outer roof tile 980 color steel tile 0.376mm 2930 6 Sheet white ash
. 50EPS sandwich panel .
16 exterior wall panels W-a |1150.0 326 2555 13 Sheet | double white gray
i 1 piece for th dl
17 |window headboard wp |29EPS sandwich panel 1350 2 | Sheet| double white gray |yieees oo aneIOWEr

1150-0.326

windows




Cement fiberboard

18 floor 18mm*1 147wide 2770 5 Sheet| primary color
19 steel door Door |Width920*height2035 — 1 Pcs white ash
20 Press the lock — 1 Pcs —
21 Aluminum alloy Width1130*heigh1200 _ 2 Pcs _
integrated window with anti-theft bar
i 3 No fil
22 |Glass wool felt 50mm bulk density 8kg/m 20000 1 Roll yellow ot
1m wide
) interior trim
23 Angle aluminum 25 — 6000 5 Pcs —
24 seal D shape with adhesive backing| 6000 18 Meter — B
) ) ) Only the lower part of the outer
25 glass glue Soft packaging 590ml — 6 Pcs porcelain white  |,4)
26 carriage bolt M12*25, with 1 nut —_ 64 Set galvanized Corner head-beam, column
27 drywall screws M3.5*20 pointed — 60 Pcs black For fixing PVC trunking
28 M12°100, with 2 flat washers — 8 Set galvanized For bottom beam A
and 1 nut
Hex Bolts
29 M12°60, with 2 flat washers — 10 Set galvanized For bottom beam B
and 1 nut
30 |Hexagon self-tapping M4.8*25 flange head drill tail — 140 | Pcs Colorzinc  |Rooftile
screws
31 |flexagon selftapping M4.8*50 flange head drill tail | — 16 | Pos |  Colorzinc |Forfixed doors and windows
32 Couptersunk head M4.2*38 cross head drill tail — 60 Pcs galvanized For cement fiberboard
tapping screw
33 Blind rivets 4.2 — 8 Pcs — windows
Pan head washer self- Ceiling tiles, support columns
34 M4.2*13 cross head drill tail — 200 Pcs galvanized between roof purlins

tapping nails

Platen slot




